& WARNING: To avoid serious personal injury:

e Carefully and strictly follow assembly instructions. Improper assembly of
furniture can result in structural failure, instability of the product, ortip-over.

e Monitor and carefully control the assembly components. These include small
parts and hardware that may present a choking hazard to small children.
Bob's fumiture should be assembled only by responsible adults and children
should not be involved in the assembly process.

e ‘Where provided, wall mounting hardware should always be used as
prescribed in these instructions to anchor fumiture towalls. Proper use of the
wall mounting hardware can significantly reduce the potential for furniture
tip-over and crushing injuries.

Q) o

\\".." 6000

<




SPARE PARTS - available for replacement
PIECES DE RECHANGE - disponibles pour remplacement
PIEZAS DE REPUESTO - disponibles para remplazo

983560GRY-02-HPC

Left side leg / Pied latérale gauche/ Pata lateral izquierda

983560GRY-03-HPC

Right side leg / Pied latérale droite / Pata lateral derecha

983560GRY-04-HPC

Foot rest / Repose-pieds / Posa-pies

983560GRY-05-HPC

Stretcher / Barre d'appui / Barra de apoyo

NIN[INIDN

983560GRY-00-HPC

Hardware pack/ Paquet contenant la quincaillerie / Juego de herramientas

SPARE PARTS - not available for replacement
PIECES DE RECHANGE - non disponibles pour remplacement
PIEZAS DE REPUESTO - no disponibles para remplazo

983560GRY-01-HPC

Cushion with frame / Coussin avec chassis / Cojin con armazon




Hardware list / Liste des piéces / Lista de tornilleria

A | Bolt(@1/4" x 2-3/8") / Boulon / Perno 08
B | Spring washer(@1/4") / Rondelle a ressort / Arandela elastica 08
C | Flat washer(@1/4") / Rondelle plate / Arandela plana 08
D | Wood screw(@4 x 1-3/4") / Vis de bois / Tornillo para madera 08

*** Note: Find the label of "Hardware Enclosed" on one of the carton corner then follow the red ribbon to get
the hardware bag.

i Remarque: Repérez I'étiquette «Quincaillerie Incluse» sur le coin de la boite, puis suivez le ruban rouge
pour récupérer le sac contenant la quincaillerie.

*** Nota: Busque la etiqueta "Ferreteria Incluida" en una de las esquinas de la caja, luego siga la cinta roja
para recuperar la bolsa que contiene la tornilleria.

Tools required / Outils requis / Herramientas requeridas

Allen key / Clé hexagonale / Llave allen m Supplied / Fourni / Incluido
Philip screwdriver / Tournevis philip / = Not supplied / Non fourni /
Destornillador estandar No incluido
IMPORTANT:

1. Do not tighten bolts completely until all bolts are completely lined up and inserted into holes / nuts.
2. Do not over tighten screws and bolts to avoid stripping.
3. Please use hand tools to assemble this product. Do not use power tools.

IMPORTANT:

1. Ne serrez pas complétement les boulons jusqu’a ce que tous les boulons soient complétement
alignés et insérés dans les trous / écrous.

2. Ne pas trop serrer les vis et boulons pour éviter le décapage.

3. Utilisez des outils a main pour assembler ce produit. N'utilisez pas d’outils électriques.

IMPORTANTE:

1. No apriete completamente los pernos hasta que todos los tornillos estén alineados
completamente y se inserten en los aguijeros / tuercas.

2. No apriere demasiado los tornillos y los pernos para evitar que se pelen.

3. Utilice herramientas de mano para montar este producto. No utilice herramientas
eléctricas.



02

02

02

02

02
02

f@))))))))))))))

f@))))))))))))))

A

A




()IID | o2
@ 02
02



admin
Line

admin
Line

admin
Typewritten Text

admin
Line


@»)))»))))») 02
@ 02
02



admin
Line

admin
Line

admin
Line

admin
Line

admin
Line

admin
Line

admin
Line

admin
Line

admin
Line

admin
Line


ASSEMBLY COMPLETED

ASSEMBLAGE TERMINE
ENSAMBLAJE TERMINADO

WEIGHT LIMITS 275LBS
POIDS MAXIMAL 275LBS
LIMITE DE PESO 275LBS




	Sheets and Views
	Model

	2.pdf
	Sheets and Views
	Model


	3.pdf
	Sheets and Views
	Model


	4.pdf
	Sheets and Views
	Model


	5.pdf
	Sheets and Views
	Model


	6.pdf
	Sheets and Views
	Model


	7.pdf
	Sheets and Views
	Model


	8.pdf
	Sheets and Views
	Model


	9.pdf
	Sheets and Views
	Model





